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II. Wader, a public limited company, is assessing the nature of its provisions for the year ended 31 May 2009. The impairment
of trade receivables has been calculated using a formulaic approach that is based on a specific percentage of the portfolio of
trade receivables. This general provision approach has been used by the company at 31 May 2009. At 31 May 2009, one of
the credit customers, Tray, has come to an arrangement with Wader whereby the amount outstanding of $4 million from Tray
'wﬂl be pald on 31 May 2010 together with a penalty of $100,000. The total amount of trade receivables outstandmg at 31
May 2009 was 11 million, including the amount owed by Tray. The following is the analysis of the trade receivables:

Name of Recéivables Bal.a n.ce Cash elxp.ected Due Date
$ million $ million
Tray 4 4.1 2010/5/31
Milk 2 2 2009/7/31
3 On average
Other receivables 5 4.6 2009/7/31
1 107

‘Wader has made an allowance of $520,000 against trade receivables, which represents the difference between the cash
expected to be received and the balance outstandmg plus a 2% general allowance. Milk has a similar credit risk to the “other
- receivables”.

Required,

(1) ARAE B P &3t 3 A ISA39 » Wader 4> 3] 24 general formulaic approach 352 2008 4 i ¢4 B MRk 2 338 2 &
WE W ERAZL - (5%)
(2) B i & B GAAP i ISA 39 # ik #kIAZ B - (5%)
(3) # 3t Wader 2 2] 2008 4 J& JE 2 32 7] &9 5 4638 0% (the allowance against trade receivables)Z 448 * (5%)
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III. Alladin Company purchased Machine #201 at 1 May 2009. The following information relating to Machine #201 was

gathered at the end of May.

Price $85,000
Credit Terms 2/10 » n/30
Freight-in Cost 800
Preparation and installation costs 3,800
Labor costs during regular production operations 10,500

It was expected that the machine could be used for 10 years, after which the salvage value would be zero. Alladin intends to use
the machine for only 8 years, however after which it expects to be able to sell it for $1 500. The invoice for Machine #201 was
paid at 5 May 2009. Alladin uses the calendar year as the basis for the preparation of financial statements.

Required, (Round all computations to the nearest dollar)

(1) Compute the depreciation expense for the years indicated using the following methods. (9%)
@ + Straight-line Method for 2000 |
@ - Sum-ofithe-year’s-digits method for 2010
@ - Double-declining balance method for 2010
(2) Suppose Kate Crow, the president of Alladin, tells you that because the company is a new organization, she expects
it will be several years before production and sales reach optimal levels. She asks you to recommend a depreciation
method that will allocate less of the company’s depreciation expense to the early years and more to later years of the
_ assets’ lives. What method would you recommend? Why? (6%)
: (3) Briefly describe some of the gimilarities and differences between U.S. GAAP and iGAAP with respect to the

accounting for property, plant, and equipment. (6%5)
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(1) 01 %2 03 4-H 4 BF| 285 § A - (12%)
(2) 15 01 &£ 04 4547 ) 8 45 M 38 AL &+ & 2 40 B 54 - (10%)

V. Samantha Cordelia, an intermediate accounting student, is having difficulty amortizing bond premiums and discounts using
the effective-interest method. Furthermore, she cannot understand why GAAP requires that this method be used instead of
the straight-line method. She has come to you with the following problem, looking for help.

On June 30, 200?, Hobart Company issued $2,000,000 face value of 11%, 20-year bonds at $2,171,600, a yield of 10%.
Hobart Company uses the effective-interest method to amortize bond premiums or discounts. The bonds pay semiannual
interest on June 30 and December 31.

' 'Reqruired,- '

(1) Compute the amortization schedule for five periods. (10%)
) Usmg the data above for illustrative purposes, write a short letter to Samantha, explaining what the effective-interest

method is, why it is preferable, and how it is computed. (12%)
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